&) akasa.

User Manual

Product Code: A-NUC93-A1B / A-NUC93-M1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled
workstation is not available, wear an antistatic wrist strap or touch an earthed surface
before handling any PC components.

WARNING

Please be careful when unpacking and setting up this product as metal edges can cause
injury if not handled with care. Keep away from children.

FR
ATTENTION
Une décharge élects ique (ESD) risque d’end: les du systeme. Si

vous ne disposez pas d'une station de travail avec protection contre I'ESD, portez un
bracelet antistatique ou touchez une surface reliée 2 la terre avant de manipuler les
composants de I'ordinateur.

AVERTISSEMENT

Faites ion lors du déballage et de I'installation de ce produit car il comporte des
coins métalliques coupants qui risquent de vous blesser s'ils ne sont pas manipulés avec
soin.

Garder loin des enfants.

DE
Vorsicht
Elektrostatische Entladungen (ESD — Electrostatic discharge) kénnen Systemkomponent-
en beschadigen. Sollte ein ESD geschiitzter Arbeitsplatz nicht vorhanden sein, tragen Sie
ein antistatisches Armband oder beriihren Sie eine geerdete Oberfliche bevor Sie mit den
Arbeiten am Computer beginnen.
Warnung
Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe

1k kénnten Verl hervorrufen wenn ohne die nétige Vorsicht
vorgegangen wird.
Von Kindern fernhalten.

ES

CUIDADO

Descargas electrostaticas (ESD) pueden dafar los componentes de su sistema. Si no puede
disponer de una estacion de trabajo libre de electrostatica, use una munequera
antiestatica o toque una superficie que haga tierra antes de manipular los componentes
del ordenador.

PELIGRO

Por favor sea cuando d este producto. Los filos de
metal pueden causarle cortes o heridas si no son manipulados adecuadamente.

Aléjate de los nifios.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha uma
bancada especifica disponivel, utilize uma pulseira anti-estatica ou toque uma superficie
aterrada antes de manusear qualquer componente.

ATENCAO

Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de
metal podem machucar, caso o mesmo nao seja manuseado com cuidado.

Manter fora do alcance das criangas.

RU
OCTOPOXXHO
nekTpocTatyecknit paspaa (SCP) MoXeT NoBPeAuUTb KOMMOHEHTbI cucTembl. Eciv
pabouee mecTo ¢ 3awuTon oT ICP OTCYTCTBYET, peKoMeHAyeTca Npu paboTe ¢

PHbBIMU AHTUCTATUYECKNiA BpacneT unm obecneunts
KOHTaKT Tefa C 3a3eM/IeHHOI OBEPXHOCTbIO.
OMACHO
CobiofaiiTe OCTOPOXKHOCTL NPV PACMaKoBKe 1 MOHTAXe 3TOr0 U3AENVA Tak KaKk oCTpble
Kpas MeTa//Inyecknx YacTeil MOryT CTaTb NpUYMHON Gr3nyeckon TpaBmbl. He noanyckaiite
K n3genuvio aeTei.

cz

POZOR

Elektrostaticky vyboj (ESD) mize poskodit soucasti systému. Pokud neni k dispozici
pracovni stanice s kontrolou pred ESD, pouzivejte antistaticky Ffeminek na zapésti nebo se
pred ipulaci s jakymikoli astmi pocitate dotkné ého povrchu.
VAROVANI

PFi vybalovani a nastavovani tohoto vyrobku davejte prozor, protoze kovové okraje mohou
PFi neopatrném zachézeni zpUsobit poranéni. Udrzujte mimo dosah déti.

PL
PRZESTROGA

tad ie elek Ly (ESD) moze uszkodzi¢ podzespoty systemu. Jesli stacja
robocza do pracy z wytad: iami elektre i nie jest d

nalezy zatozy¢ antystatyczny pasek na nadgarstek lub dotknaé¢ uziemionej powierzchni
przed ieniem do obstugi jakichkolwiek pod: tow k
OSTRZEZENIE

Nalezy zachowaé ostrozno$é podczas rozpakowywania i iania tego produktu,
poniewaz I krawedzie moga sp dowac¢ obrazenia, jesli nie s3 obstugi z
zachowaniem nalezytej uwagi. Trzymac z dala od dzieci.

P

EE

MESME (ESD) REFHM - BRCBBESI D LAHDET, ARROIT
EEETSHIIC, BIBBIREMFEETo TSIV, BEIPERD L
iaﬁﬂ)‘jﬂ:ﬁﬁx rSv7EEBEALT, BNFEEZT> TSV,

=
EEOA (TvY) BATTAZIZ2BRNAHDETOT, AMRKEMER. v
r7v 793, <h<hb R ERLES V. FELDFOBHEVFRIC
BULTFEL,

CN

B

# MR (ESD) R RS IR R G T ¢ « 1545 RESD T {Ful - B RBUS IS T (Fuh
EEZRE R R RAMRT - BEBUEMBMAL

BEE
FHERZRPIENDED - BEREBDLEE) - THKE -

5140278102 V1

l

H

)
&8 [

GB

(@ Thermal compound @@ Thermal pad @ Thermal module ® Screws
® EMI gasket (@ Screws for motherboard (M3) Washer

© Thermal gap filler (for M.2 SSD) (0 Thermal module (for M.2 SSD)

@ VESA mounting screws (1 Case feet kit

FR

(D Composé thermique @® Pate thermique @ module thermique ® vis
® Joint de blindage EMI @ vis pour carte mére (M3) Rondelle

© Pate thermique (pour M.2 SSD) (D module thermique (pour M.2 SSD)

@ Vis de fixation VESA @ kit de pied de boitier

DE

(D Wirmeleitpaste @® Thermaler Liickenfiiller @ Thermo-Modul

® Schrauben ® EMI-Dichtung (@ Schrauben fiir das Motherboard (M3)
Scheiben @ Thermaler Liickenfiiller (fir M.2 SSD)

Thermo-Modul (fiir M.2 SSD) (@) VESA-Montageschrauben

(@ GehiusefiiBe Zubehsr

PT

(D Pasta térmica @@ ) Pelicula térmica @ Médulo térmico (B Parafusos
® Junta EMI D Parafusos para placa-mae (M3) ®) Arruela

© Pelicula térmica (para M.2 SSD) (0 Médulo térmico (para M.2 SSD)

@ Parafusos para instalagio no suporte VESA @ Kit de fixagao do gabinete

ES

@Compuesto térmico @@ Relleno térmico @ médulo térmico B tornillos
® Junta EMI @ tornillos para la placa base (M3) & Arruela

© Relleno térmico (para M.2 SSD) (0 médulo térmico (para M.2 SSD)

@ Tornillos de montaje VESA @ kit de pies de la carcasa

RU

@ Tepmokomnayra @@ TepmozanonHuTens 3azopos @ Tepmomogynb
® Buntbl ® IMU-npotektop (@D BUHTbI ANs MaTepUHCKON nnaTbl (M3)
LWait6a @ Tepmomoaynb (ana M.2 SSD)

(0 TepmosanonHuTens 3a3opos. (ana M.2 SSD)

@ BuHTbl kpennenms VESA [ Ha6op Hoxek kopnyca

cz

@ Tepelna slou¢enina @® Tepelna podlozka @ Tepelny modul ® Srouby
® Tésnéni EMI @ Srouby pro zakladni desku (M3) Podlozka

© Teplotni vyplii (pro M.2 SSD) @ Teplotni modul (pro M.2 SSD)

@ Upeviiovaci srouby VESA (@ Sada podpér krabice

PL

@ S$rodek termoprzewodzacy @@ Podkfadka termiczna @ Modut termiczny
® Sruby (® Uszczelka EMI (D Sruby do plyty gtéwnej (M3) Podktadka

@© Wypetniacz szczeliny termicznej (dla M.2 SSD)

Modut termiczny (dla M.2 SSD) @ Sruby do uchwytu VESA

(@ Zestaw nézek do obudowy

P
O BEEMINOVR Q@Y —IINFryTT45— @ HRED 21—
® x2 ® EMI HRT vk @ ¥ —R—KBAHRL (M3) @ Tviv—

© Y=< I F+yT745—(M.2 SSD AH) @ #ESa1—)L (M.2 SSD A)
@ VESA BftRRL @ o—R2+vb

CN

BB OO BMETRR @ HiER © B4 © BHRHEH
@ EIBL (M3) @ BF @ SHIATRR (M2 SSD fi)
@ #iEt (M.2SSD i) () VESAR #4842 @ HIFERIEH

Front and Back Panel Layout

®

USB 3.2 ports ------------------- :

"""" Headphone /
Microphone

””” Rear I/0 Opening

: - - Serial Port
i I *Not for usage for
Kensington f 3 NUC 12 Pro
lock hole -, : !
® | | O
R S

Internal Layout

@ M/B mounting standoffs

©L°

o
1l o
o @

©V_|

Installation

VESA Mounting Instructions

2,

|
||

T

Case Feet Installation

2023/01



